71

10. & &
1. EBORR (ES{E : kn - %) 2fn34E A 1 A BULE
# 5 4 £ i B M= &
WO OB IE f%l S =
1 195.5 195.5 100.0
4 B 9.1 9.1 100. 0
284 2 40.7 40. 7 100. 0
342 =2 67.4 67.4 100. 0
343 2 30. 8 30. 8 100. 0
456 =2 31.8 31.8 100. 0
457 2 13.7 13.7 100. 0
346 B 2.0 2.0 100.0
I o H Vil 1 129. 4 129. 4 100.0
SN - IR S N S 0.1 0.1 100. 0
iT il = i R 33.5 33.5 100.0
— 5] it S i 9.2 9.2 100. 0
A i = R R 15. 4 15.4 100.0
— B PN H i 22.6 22.6 100. 0
1t R’ JER N fi 18. 1 18.1 100.0
LA S SR <E 1.8 1.8 100. 0
PR 5 & % R 17.1 17. 1 100. 0
S i) N = B 11.6 11.6 100.0
[ 1B 191. 1 191. 1 100. 0
I H 1 |59 R 5.2 5.2 100. 0
5 R W 18] fi 4.6 4.6 100.0
i R R (L R 10. 6 10.6 100. 0
o B B B 0.1 0.1 100. 0
( B & #= 0.0 0.0 100. 0
S N 0.8 0.8 100. 0
oo B = B 8 0.7 0.7 100. 0
FTHND = N S : N~ 0.1 0.1 100. 0
i 1~ P JII o 11.7 11.7 100. 0
= i 1t s R 7.3 7.3 100. 0
e i M JE3 R 2.3 2.3 100.0
H Ef # il B 1.3 1.3 100. 0
TH = = i) R 1.6 1.6 100. 0
K Fq H Ef R 0.4 0.4 100. 0
R fn i 1~ R 14.8 14.8 100.0
1t s SiE] R 3.6 3.6 100. 0
AH JII e R R 4.7 4.7 100. 0
S SN | R 6.5 6.5 100. 0
E O R foar RO 9.0 9.0 100.0
= £ 7R S R 14.7 14. 7 100.0
Vi il En # o 7.5 7.5 100. 0
— 5] o R fi 4.5 4.5 100.0
H H i, | R 3.5 3.5 100.0
i FH FH Ji R 13.6 13.6 100. 0
I BE x B R 18.8 18.8 100.0
PN JI + JER R 10.7 10. 7 100.0
H® (i i r~ i 11.7 11.7 100. 0
L8 1 i R R 4.8 4.8 100. 0
4 A B b fi 4.8 4.8 100.0
JEE N X i B 11.2 11.2 100.0
= i 1 9.0 9.0 100.0
B gk H #) B E 9.0 9.0 100. 0
(HAZ  km - %) ST 544 A 1 AH(E
¥ @ % % & B M= &
3 i G 5:[ I
[l 1B 4,280.9 2,355. 4 55. 0
1 (198 B M) 617.5 591.5 95. 8
2 W (236 B O#mo) 442.7 393.0 88. 8
= O o (7,228 ¥ R ) 3,219.0 1, 369. 3 42.5
ST R | AR aE (23 KRR 1.7 1.6 94. 1
%ﬂ:%%@ﬁ%ﬁﬁ\ﬁ%ﬁ@
SCEidE R TR A B e
MKES - $®®&%L¢@“uTﬁﬂmﬂ%f



2. MHAREGKER

(HAZ : ha) D544 H 1 AEHAE
X 4| e o | ERARE | AR | HXAR | ATkt | EEARE | AR | R EARE
N B 88 72 5 2 4 1 3 1
w8 149. 10 10. 97 5. 32 9.38 34. 49 21. 20 66. 66 1.08

B AR TR (e AR

3. #HEE A&
(BAZ @ ha * % S5 4H 1 HBLE

5 [ 5 5% i ] “e T T at
— — — - 23 3 T £ *
it i il i il ] Hh ES Hh B
{138 + (B2 fE £ fik H sk H
% =] = 5 JE Hh i3 Hht
) {E = Hit Hi o i
Hi & fF i1 sk
mo|
& W
sk Hh
sk
s | TR 282 285 419 15 70 119 255 101 240 1,786
e .
Hepkktl 15.8  16.0  23.5 0.9 3.9 6.7 14.3 5.7 13.4 100
(Hb e A
— e Hidak 233 233 306 8 59 86 219 44 142 1,330
et dak 30 38 59 5 9 22 15 30 — 208
Py RNREichin 19 14 54 2 2 11 21 27 98 248

BRE A fi R

4. v - ¥ n
BiX - #E7K s (¥4 : ha) 1544 1 0

X o) ] i
wwo 163. 7
Bk i -
YL K Hidak 163. 7

B AR TR AR

72



GEAL . 7)) B4 A 1 BHE

e

i H B A E S EE i G
BB s 5 g | e o |k | | s | | | | 5|05 | | e |
R S| s | i | o pe| o p| | PR || op| R BE N IS e | b |2 me
4.3 | 1,145 152 40 515 377 32 28 3 46 30 16 291 — 24 233 22 12
4 | 1,08 152 40 467 365 32 26 3 46 30 16 291 — 24 233 22 12
5 | 1,042 145 40 443 353 32 26 3 46 30 16 291 — 24 233 22 12
(Hh3ak 1))
—pAMg | 602 42 20 443 68 — 26 3 - - -
16 IR kil 8 45 — - 41 - = = - - =
KEk | 105 7 12 — 4 12 —  — 10— 10
TR I 37 g8 — - 29 - - = - - =
L % 6 — — 50 20 — — % 20 6
AL 50 3% - — 15 — - — 0 10 —
11 355 31 2 8 — 21 — — — - - -
IR i 55 — — — 5 - — — - - -

BERL - AT R RR
VR R IR BLUR) E A — B oA v & —

73



